80.400 [10.16]
[LESS 2" TAPER BOTH ENDS

(0. ;22)

[ 78‘34] \
(0.625)
[15.88]

NOTES:

1.

2.

NS O A W

HE LEAK TEST @1 ATM. 10X10°-9 CC/S OR LESS.
HYPOT 3000 VDC ROD TO HOUSING 0.1 mA MAXIMUM
LEAKAGE (30 MQ MINIMUM).

MAXIMUM CURRENT RATING 40 AMPS.

ALL TESTS ARE PERFORMED AT ROOM TEMPERATURE.
ALL PARTS MUST PASS ALL TESTS.

NO VOIDS LARGER THAN #0.035 [.89] ARE ACCEPTABLE.
REF—OPERATING TEMPERATURE —-20°C TO 150°C.

(1/4-18 NPT)

o)

3
o0l g O 0l @
ARl I~ — — O
O g © [— \\ O g ©

0.3 — 0.6
[7-5]" [ [15.2] M (10-32 UNF-24)
_(0.86) | 1.0 BOTH ENDS
T [21.8] T [25.4]
3.43
[87.1]

5 | 4 |BRASS WASHER #10  |WASHER #10 BRASS

4 | 4 |BRASS NUT #10 NUT #10-32 BRASS

3 | A/R |PAVE=Seal 200HV EPOXY BLUE

2 | 1 10927 ROD .188"-32 THREAD COPPER

1| 1 2972 HOUSING PT4-SS

ITEM | QTY | PARTE DESCRIPTION

ALL DIMENSIONS AND TOLERANCES APPLY TO FINISHED PART IN INCHES
ALLOWABLE TOLERANCES UNLESS SPECIFIED OTHERWISE: NONE +/-0.5

X DECIMAL +/— 0.1 .XX DECIMAL +/— 0.02 .XXX DECIMAL +/-0.005
ANGLES +/— 1 DEG SURFACE FINISH 128 microinch RMS

2751 Thunderhawk Court
Dayton Ohio 45414-3445

937)890— 1100
ax (937)890-5165
www.pavetechnologyco.com

DESCRIPTION  PAVE—Mate® | Connectors

PT4-55—-200HV-1-.19CU-.94-1.62

PART NUMBER REVISON D
LEVEL

0926  [me g =]




